OHS Quad 2013 Tuesday, April 2, 2013

Girls

Points By School

Place	School	Points
1st	Centralia	100
2nd	Mission Valley	55
2nd	Onaga	55
4th	Wetmore	53

Completed Events			
100 M Dash	200 M Dash	400 M Dash	
800 M Run	1600 M Run	3200 M Run	
4 x 100 (400 M) Relay	4 x 400 (1600 M) Relay	4 x 800 (3200 M) Relay	
100 M Hurdles	300 M Hurdles	Long Jump	
Shot Put	Discus	Triple Jump	
Javelin	High Jump	Pole Vault	

Incomplete Events		·
	All events are complete	

OHS Quad 2013 Tuesday, April 2, 2013

Meet Results By Division Girls

100 M Dash

Place	Contestant	School	Time
1st	Niehues, Stacie	Mission Valley	14.21
2nd	Haverkamp, Gerae	Wetmore	14.64
3rd	Bachman, Stephanie	Centralia	15.30
4th	Schwant, Destiney	Onaga	15.41
5th	Wolfe, Sarah	Centralia	15.42

200 M Dash

Place	Contestant	School	Time
1st	Huerter, Chelsea	Centralia	29.52
2nd	Niehues, Stacie	Mission Valley	30.88
3rd	Haverkamp, Gerae	Wetmore	31.14
4th	Schlesener, Kacy	Mission Valley	31.93
5th	Snyder, Aubriyanna	Mission Valley	33.26

400 M Dash

Place	Contestant	School	Time
1st	Glessner, Bethany	Onaga	1:08.48
2nd	Martin, Ryley	Wetmore	1:10.09
3rd	Korpi, Kennedy	Centralia	1:11.35
4th	Dunphy, Gabby	Mission Valley	1:17.22
5th	Kufahl, Taylor	Onaga	1:18.45

800 M Run

Place	Contestant	School	Time
1st	Stallbaumer, Mayda	Centralia	2:43.72
2nd	Burdiek, Blair	Centralia	2:53.12
3rd	Schultz, Sarah	Onaga	3:00.06
4th	Glessner, Rebekah	Onaga	3:01.06
5th	Meyer, Mandy	Mission Valley	3:03.96

1600 M Run

Place	Contestant	School	Time
1st	Klute, Julie	Centralia	6:19.91
2nd	Pfrang, Keri	Wetmore	6:33.02
3rd	Whetzal, Logan	Centralia	6:44.52
4th	McClary, Laramie	Centralia	6:49.40

3200 M Run

Place	Contestant	School	Time
1st	Stallbaumer, Mayda	Centralia	14:40.59
2nd	McClary, Laramie	Centralia	14:51.56

4 x 100 (400 M) Relay

Place	Contestants	School	Time
1st	Ames, Deborah Glessner, Bethany Marten, Jocelyn Schwant, Destiney	Onaga	56.21
2nd	MV#1 MV#2 MV#3 MV#4	Mission Valley	58.30
3rd	Korpi, Kennedy Bachman, Stephanie Flentie, Taylor Haufler, Katy	Centralia (Team A)	1:00.02

4 x 400 (1600 M) Relay

Place	Contestants	School	Time
1st	Ames, Deborah Glessner, Bethany Marten, Jocelyn Brunkow, Cheyenne	Onaga	4:51.36
2nd	Burdiek, Blair Korpi, Kennedy Koch, Malori Klute, Julie	Centralia (Team A)	4:56.76
3rd	Kramer, Dana Martin, Ryley Pfrang, Keri Haverkamp, Gerae	Wetmore	4:59.92

4 x 800 (3200 M) Relay

Place	Contestants	School	Time
1st	Burdiek, Blair Klute, Julie Koch, Malori Korpi, Kennedy	Centralia (Team A)	11:28.57
2nd	Ames, Deborah Glessner, Bethany Glessner, Rebekah Marten, Jocelyn	Onaga	12:07.38

OHS Quad 2013 Tuesday, April 2, 2013

Meet Results By Division Girls (Continued...)

100 M Hurdles

Place	Contestant	School	Time
1st	Kramer, Dana	Wetmore	16.51
2nd	Hodge, Jade	Mission Valley	17.85
3rd	Kramer, Drew	Centralia	20.21
4th	McNally, Kori	Centralia	20.48
5th	Deters, Jordan	Mission Valley	20.78

Triple Jump

	•		
Place	Contestant	School	Distance
1st	Kramer, Dana	Wetmore	30'-3 1/4"
2nd	Glessner, Rebekah	Onaga	30'-2 1/2"
3rd	Haverkamp, Gerae	Wetmore	29'-9 3/4"
4th	Brunkow, Cheyenne	Onaga	27'-9 1/4"
5th	Schlesener, Kacy	Mission Valley	25'-10 1/2"

300 M Hurdles

Place	Contestant	School	Time
1st	Hodge, Jade	Mission Valley	55.27
2nd	Kramer, Drew	Centralia	58.71
3rd	McNally, Kori	Centralia	1:00.89
4th	Deters, Jordan	Mission Valley	1:02.20

Javelin

Place	Contestant	School	Distance
1st	Hodge, Jade	Mission Valley	116'-2"
2nd	Hanzlik, Riley	Centralia	113'-0"
3rd	Hasenkamp, Liz	Centralia	105'-3 1/2"
4th	Kufahl, Taylor	Onaga	92'-9"
5th	Hopkins, Shelby	Wetmore	81'-10"

Long Jump

Place	Contestant	School	Distance
1st	Kramer, Dana	Wetmore	14'-8"
2nd	Ames, Deborah	Onaga	13'-10 1/4"
3rd	Niehues, Stacie	Mission Valley	13'-7 1/4"
4th	Wamsley, Haley	Wetmore	13'-1 1/4"
5th	Klute, Julie	Centralia	12'-10 1/2"

High Jump

Place	Contestant	School	Height
1st	Marten, Jocelyn	Onaga	4'-8"
2nd	Schlesener, Kacy	Mission Valley	4'-8"
3rd	Kramer, Drew	Centralia	4'-6"
4th	Martin, Ryley	Wetmore	4'-4"
5th	Whetzal, Logan	Centralia	4'-2"

Shot Put

Place	Contestant	School	Distance
1st	Bergman, Tara	Centralia	33'-10 3/4"
2nd	Hopkins, Shelby	Wetmore	29'-8"
3rd	Seemater, April	Mission Valley	29'-0 1/2"
4th	Brunkow, Cheyenne	Onaga	27'-11 1/2"
5th	Hanzlik, Riley	Centralia	27'-11"

Pole Vault

Place	Contestant	School	Height
1st	Huerter, Chelsea	Centralia	7'-0"
2nd	Haufler, Katy	Centralia	6'-6"
. 3rd	Snyder, Aubriyanna	Mission Valley	4'-0"

Discus

Place	Contestant	School	Distance
1st	Heitz, Alisha	Wetmore	93'-6"
2nd	Kufahl, Taylor	Onaga	90'-9"
3rd	Bergman, Tara	Centralia	89'-10"
4th	Seemater, April	Mission Valley	79'-9"
5th	Brunkow, Cheyenne	Onaga	73'-5"

Onaga Quad 2013 Tuesday, April 2, 2013

Boys

Points By School

Place	School	Points
1st	Centralia	112
2nd	Onaga	87
3rd	Mission Valley	39
4th	Wetmore	29

	Completed Events	
100 M Dash	200 M Dash	400 M Dash
800 M Run	1600 M Run	3200 M Run
4 x 100 (400 M) Relay	4 x 400 (1600 M) Relay	4 x 800 (3200 M) Relay
110 M Hurdles	300 M Hurdles	Long Jump
Shot Put	Discus	Triple Jump
Javelin	High Jump	Pole Vault

Incomplete Events
All events are complete

Onaga Quad 2013 Tuesday, April 2, 2013

Meet Results By Division Boys

100 M Dash

Place	Contestant	School	Time
1st	Turner, D	Centralia	11.37
2nd	VanDorn, W	Centralia	11.51
3rd	Haufler, H	Centralia	11.80
4th	Koelzer, D	Onaga	11.83
5th	Bliss, K	Onaga	12.02

3200 M Run

Place	Contestant	School	Time
1st	Koch, L	Centralia	9;57.68
2nd	Ballenger, J	Wetmore	11:44.42
3rd	Deters, B	Centralia	11:52.01
4th	Eisenbarth, M	Onaga	12:00.62
5th	Meyer, C	Mission Valley	12:19.21

200 M Dash

Place	Contestant	School	Time
1st	VanDorn, W	Centralia	24.56
2nd	Tennison, M	Mission Valley	25.05
3rd	Johnson, J	Centralia	25.93
4th	Pierson, C	Onaga	26.10
5th	Russo, A	Centralia	26.40

4 x 100 (400 M) Relay

Place	Contestants	School	Time
1st	Burdiek, B Rosine, JT Steinlage, S Turner, D	Centralia (Team A)	46.00
2nd	MV#1 MV#2 MV#3 MV#4	Mission Valley	47.00

400 M Dash

Place	Contestant	School	Time
1st	Cordell, W	Onaga	54.15
2nd	Eisenbarth, T	Onaga	55.93
3rd	Koelzer, D	Onaga	57.53
4th	Johnson, J	Centralia	1:03.63
5th	Boyd, D	Mission Valley	1:05.67

4 x 400 (1600 M) Relay

Place	Contestants	School	Time
1st	On#5 On#6 On#7 On#8	Onaga	3:53.31
2nd	Burdiek, B Rosine, JT Steinlage, S Turner, D	Centralia	4:00.71
3rd	Ballenger, J Hodge, L McCoy, I Boeckman, R	Wetmore	4:18.06

800 M Run

Place	Contestant	School	Time
1st	Hodge, L	Wetmore	2:25.53
2nd	Glessner, J	Onaga	2:35.60
3rd	Goforth, An	Onaga	3:15.37

4 x 800 (3200 M) Relay

Place	Contestants	School	Time
1st	On#1 On#2 On#3 On#4	Onaga	10:02.83
2nd	MV#9 MV#10 MV#11 MV#12	Mission Valley	11:03.55
3rd	Morrison, K Rempe, S Koelzer, J Koelzer, G	Centralia	11:31.39

1600 M Run

Place	Contestant	School	Time
1st	Koch, L	Centralia	5:00.77
2nd	Ballenger, J	Wetmore	5:20.16
3rd	Deters, B	Centralia	5:23.35
4th	Eisenbarth, M	Onaga	5:29.41
5th	Glessner, J	Onaga	5:30.42

Onaga Quad 2013 Tuesday, April 2, 2013

Meet Results By Division Boys (Continued...)

110 M Hurdles

Place	Contestant	School	Time
1st	Burdiek, B	Centralia	16.78
2nd	Ames, G	Onaga	20.09
3rd	Minihan, Wy	Onaga	21.59

300 M Hurdles

Place	Contestant	School	Time
1st	Burdiek, B	Centralia	45.78
2nd	Boeckman, R	Wetmore	48.02
3rd	Ames, G	Onaga	49.21
4th	Frazer, M	Centralia	49.77
5th	Minihan, Wy	Onaga	51.92

Long Jump

Place	Contestant	School	Distance
1st	Bliss, K	Onaga	20'-1"
2nd	Rosine, JT	Centralia	19'-8"
3rd	Steinlage, S	Centralia	19'-6"
4th	Haufler, H	Centralia	18'-6"
5th	Sackrider, D	Mission Valley	15'-5"

Shot Put

Place	Contestant	School	Distance
1st	Kolterman, M	Onaga	41'-10"
2nd	Smallwood, C	Mission Valley	39'-2 3/4"
3rd	Ferron, J	Centralia	39'-1 1/2"
4th	Rosine, JT	Centralia	38'-7"
5th	Poley, N	Onaga	36'-8 3/4"

Discus

Place	Contestant	School	Distance
1st	Smallwood, C	Mission Valley	114'-5"
2nd	Bliss, M	Onaga	108'-3"
3rd	Poley, N	Onaga	103'-4"
4th	Ferron, J	Centralia	98'-1"
5th	Kraus, K	Mission Valley	95'-8"

Triple Jump

Place	Contestant	School	Distance
1st	Hodge, L	Wetmore	36'-4"
2nd	Bloomer, C	Onaga	36'-3 1/2"
3rd	Boeckman, R	Wetmore	35'-11"
4th	Durland, J	Centralia	34'-11"
5th	Sackrider, D	Mission Valley	34'-4 1/2"

Javelin

Place	Contestant	School	Distance
1st	Smallwood, C	Mission Valley	157'-4 1/2"
2nd	Bliss, M	Onaga	152'-3"
3rd	Frazer, M	Centralia	124'-8 1/2"
4th	Tennison, M	Mission Valley	121'-5 1/2"
5th	Kraus, K	Mission Valley	116'-8 1/2"

High Jump

Place	Contestant	School	Height
1st	Burdiek, B	Centralia	5'-10"
2nd	Rothe, M	Onaga	5'-0"
3rd	Talley, D	Centralia	5'-0"
4th	Meyer, C	Mission Valley	4'-8"

Pole Vault

Place	Contestant	School	Height
1st	Huerter, C	Centralia	11'-6"
2nd	VanDorn, W	Centralia	11'-0"
3rd	Beck, A	Centralia	10'-0"
4th	Glessner, J	Onaga	8'-0"
5th	Millstead, K	Mission Valley	7'-0"